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FACULTY OF COMMERCE
B.Com. (Second Year) (Third Semester) EXAMINATION
MARCH/APRIL, 2018
(CBCS Pattern)
COST ACCOUNTING

Paper 1
(MCQ & Theory)
(Friday, 23-3-2018) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (1 Solve Question No. 1 on OMR sheet during the first half an hour.

(1) Question No. 1 is compulsory.
(111  All questions carry equal marks.
(iv)  Simple calculator is allowed.
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1. Multiple Choice Questions : 10
agwfq“r R

(1) Which is the object of cost accounting ?

(a) ~ Ascertainment of cost
(b)  Determination of selling price
(o Controlling costs
(d) All of the above
P.T.O.
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(11) Historical costing is known as :

(a)  Standard costing (b)  Uniform costing
(0 Marginal costing (d) ~ Traditional costing
AT URE gy e T STeEaT.
(2 w9 9ierd gt (b w9R g gsdt
(0 Toma wRem st (d) IR uRema agd
(zz1)  Cost sheet is prepared at :
(a) ~ Weekly (b)  Monthly
(0 Quarterly (d)  All of these
IRed U5k § IR hal S IR
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(ivy ~ Base of Apportionment of expenses of lighting is :
() House power (b  Machine hours
(o Light point (d) Value of machine
JhTYl ©E el STER
(a)  STEERIf (H I 9
(¢ ~ wmEe diged (d) <= g
(» Single or output costing method is commonly used by :
(a) Cement Industry (b) Steel Industry
(0 Sugar Industry (d)  All of these
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(a) e s=m (b dEE S
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(vi)  Halsey Plan, Wages = ..............ovuuene.
(a) TT x TR + 50% (TS x TR)

1
() TT x TR + 3 (TS x TR)

50
(0 TT x TR + — (ST - TT) x TR

100
(d All of the above
B TGl WA, AT = i

(a) Faoel 9@ x 999 € + 50% (AEfaeiel 9 x THd )

(b) %@w%xwa+%(maﬁﬁwaaxwa)
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(d) AU gd

(vii) ~ Purchase requisition is commonly used as a formal request to :

(a) ~ Purchase department (b)  Store-keeper
(o Plant engineer (d) None of these
-@i—(ﬁ» -q-l—,-l-uﬂ- T3 %» W ............................... ﬁw -ra[:k_ﬂ- Eh—{ﬁ
(a) T faum (b  wERIA
(o gF31 Ay (d) AUt A&
(viiii  When LIFO method is used, charge to production is closely related
to :
(a)  Cost Price (b)  Purchase Price
(o Selling Price (d)  Current Price

P.T.O.
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(a) 9R=E gem (b) BRI I
(¢ foml geam (d)  v=fad geam
Depreciation = ..........ccccevveeeeeenniennn.

Cost + Installation charges — Scrap value

(@) Estimated life
% Cost — Installation charges + Scrap value
Estimated life
Cost + Scrap value
(0

Estimated life
(d None of the above

................................

IR i — T e 4+ ST Tl

) STHIA 3T
0 qﬁsq’qifq + Wﬂﬁq

S ST
(d) A=t =&t
Base of apportionment of rent is :
(a)  No. of workers (b)  Area occupied
(o Direct wages (d)  Direct expenses
WD FYUETONE] SIEIL oo T e
(a)  HTTIRMEN FE& (b))  oRU Sheied &
(0  ¥ag "9d (d 9YI& T4
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Theory
From the following particulars, prepare statement of cost showing : 10
(1) Cost of materials used
(€7)) Prime cost
(zz1)  Factory cost
(1v) Office cost
(v Total cost.
3

Opening stock of Raw Materials 25,000
Purchase of Raw Materials 85,000
Closing stock of Raw Materials 40,000
Direct Wages 75,000
Carriage Inward 5,000
Factory Expenses 10,000
Office Rent 500
Factory Rent 5,000
Direct Expenses 15,000
Factory Material 500
Depreciation on factory machinery 1,500
Depreciation on office furniture 100
Salesman’s salary 2,000
Office salary 2,500
Factory supervision 5,700
Other office exp. 900

P.T.O.
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Manager’s salary (factory)

Manager’s salary (office)
Manager’s salary (sales)
Other selling exp.
Carriage outward

Advertisement
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4,000
2,000
6,000
2,100
1,000
2,000

25,000
85,000
40,000
75,000
5,000
10,000
500
5,000
15,000
500
1,500
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Or

(feram)
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100
2,000
2,500
5,700
900
4,000
2,000
6,000
2,100
1,000
2,000

A normal working week in a factory 44 hours. A worker is paid Rs. 5 an hour,

overtime at 1% times the hourly rate and a bonus of Rs. 2.50 for every 100

articles produced in excess of 5,000 per week. Calculate his wages for the week

from the following particulars taken from his Time and Job card :

Day In

Friday 8.00
Saturday 8.00
Monday 8.30
Tuesday 8.00

Wednesday 8.00
Thursday 8.00
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Out
12.00
11.30
12.00
12.00
12.00
12.00

In

1.00

1.00
1.00
1.00
1.00

Out
5.30
8.00
6.00
6.30
7.00

Output
950
545
1106
1052
1002
1112
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Tehl hRETATd Tehl SASTSdTd HHIA: 44 9 hH =Teld. HIFTRICT RN 5 % HqSRT
feell Si1d, SAfdehTell™ ot |EmT Jdi=an 1% 92ia foell Sid smfor 5,000 e S
T 3AEA ™ Yh! 100 Tl 2.50 Taal d-9 <vad Idl. =] Teh TSl

T Fe=ia 4. 9 ST SREiUsRIYATY Welia Alfed! Sucred el

faam A AT C MR I

NEZEIR 8.00 12.00 1.00 5.30 950

RIREIR 8.00 11.30 — - 545

HHaR 8.30 12.00 1.00 8.00 1106

AR 8.00 12.00 1.00 6.00 1052

JYAR 8.00 12.00 1.00 6.30 1002

Ted 8.00 12.00 1.00 7.00 1112

The following purchases and issues were made during April, 2016 : 10

Date Particulars Quantity Rate per unit
(units) (Rs.)

April 2 Purchased 2,000 10

April 6 Purchased 300 12

April 9 Issued 1,200 —

April 10 Purchased 200 14

April 12 Issued 1,000 —

April 20 Purchased 300 11

April 29 Issued 200 —

Prepare Store Ledger Account under simple average price method.
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T, 2016 91 Afe=Id Wy o gri=l BRel 9 R s o B e

feien CEINE] HTAT wfa wmn feRua

(THh) (%.)
T 2 TRal 2,000 10
T 6 TREl 300 12
et 9 fofem 1,200 7Y
T 10 TEl 200 14
T 12 frfe 1,000 —
T 20 TREl 300 11
T 29 Frfee 200 —
ol Hifgdioed FEl qUEd (A1ed) g HieR YUsi oel qaR .

Or
(feram)

Standard time allowed for a job 50 hours. The hourly rate wage is 40 paise
per hour plus a Dearness Allowance @ 25 paise per hour worked. The actual

time taken by worker was 40 hours.
Calculate total wages on :

(1) Time rate basis

(€7)) Piece rate basis

(zz1)  Halsey plan, and

(1w~ Rowan’s plan.

P.T.O.
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(i B AT AT
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Compute machine-hour rate from the following data : 10
Cost of machine Rs. 1,00,000
Installation charges Rs. 10,000
Estimated scrap value Rs. 5,000
Estimated life of machine 15 years
Rent and rates for the shop per month Rs. 200
General lighting for the shop per month Rs. 300
Insurance premium for the machine per annum Rs. 960
Repairs and maintenance of the machine per annum Rs. 1,000
Power consumption of the machine 10 units per hour
Rate of power Rs. 20 for 100 units

Estimated working hours per annum 2,200 hours includes setting up time

of 200 hours.
Shop supervisor salary per month Rs. 200.

The machine occupies 1/4 of the total area of shop. The shop supervisor is

expected to devote 1/5 of his time for supervising this machine.
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Gt Afgdieed Teh o= I3 € i@l
I IR e 1,00,000 %.
I YR @ 10,000 .
TN I GUCAHRS A SRS o S 5,000 .
I ST ST 15 99
HISTesAl A fha d & 200 %.
FITesel AR Rl ©d 300 %.
I MY fom et 960 <.
I AR QORI o HIOHIS0 E 1,000 %.
e fos=r aR gfq a9 10 #=T
fos=n g — 100 HETen 20 %.

IS 3TETS QS ST A 2,200 T, I I3 Y& HUAMEST AFTOMTT 200 AT

THEY 3R

[aSaY

freTehTaT |IEeh TR 200 .

I TAN FRMT THO SAFAh! 1/4 ST ST TR, hTeNes=a FRIgehM &=

THYT Ukl 1/5 s AT I LTS Suren o STvafid ST

Or
(fenam)

What is meant by Cost Accounting ? Explain the objects of Cost Accounting.

IR e TUN % ? IRSTT TEeArEl SR TR L
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